Kapitel 2 Vokabeln - Arbeitsblatt

A. Kapitel2CEM.docx

Write down 5 Collocations/Examples/Mnemonics from Kapitel2CEM.docx that you want to remember:

1.

2.

3.

4.

5.

B. Was stimmt?

1. Ich esse Erdnussbutter [=peanut butter] ________________ [circle all that apply to you personally!]

a. nicht sehr oft [=often]
b. gern
c. zu Hause
d. nur mit Marmelade [jam]

2. Wie viel Geld [=money] hat Mark Zuckerberg (oder Elon Musk)?
a. wenig
b. ein bisschen
c. etwas
d. sehr viel

3. Was ist schneller [=faster]?

a. Ich mache das gleich
b. Ich mache das bald
c. Ich mache das am Wochenende

4. Biff versteht Mathematik, Physik und Computer überhaupt nicht. Was studiert Biff? [circle all that work!]

a. Kunst
b. Ingenieurwesen
c. Informatik
d. Internationale Beziehungen

C. Was passt nicht? [=What doesn't fit?]

Schreiben Sie drei "Was passt nicht?" [=What doesn't fit?] Fragen mit den Kapitel 2 Vokabeln.

z.B. a. bald
b. heute
c. allein
d. morgens

==> "Allein" passt nicht, denn [=because] es hat nichts mit Zeit zu tun [=it has nothing to do with time].

Notes: 

· It's OK to use English or "Denglisch" when you give the reason (i.e. after "denn")

· Know the meanings of all four words you write for each question: in class, you will ask your classmates these questions, and they may ask you what the words you chose mean

· The reason why the fourth word doesn't fit can be logical, as in the above example, but can also be things like "denn X ist kein Verb" [the other three are verbs, but X is not] or "denn X ist ein langes Wort" [the other three are short], or even something like "denn X beginnt nicht mit 'A'." It can also be subjective, like "denn ich bin nicht verheiratet" if your words were klug, verheiratet, ledig, and sportlich, or like "denn ich tanze nicht gern" if the other words were things you like to do.

· It's OK if you have just three options instead of four for one or two questions - but then there needs to be a good, logical connection between the two words that fit together.

a.
b.
c.
d. 

==> ____________ passt nicht, denn ______________________________________

a.
b.
c.
d. 

==> ____________ passt nicht, denn ______________________________________

a.
b.
c.
d. 

==> ____________ passt nicht, denn ______________________________________

